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Year 2 Maths
ANSWERS

Task 1 Task 2 Task 3 Task 4
Practice Practice Reasoning Problem solving

I I I Explain your answers.

éa. 6 + 6 =12 doughnuts. If Joseph buys

4a. Max is correct because both equal 30| | | another pack, he will have 18 (6 + 4 + §).
(3 groups of 10 and 10 + 10 + 10).

5+5+5+5=20 10+10+10+ 10+
4x5=20 10+10+10=70
7x10=70
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yipare B B BE
E E m 4b. Ava is correct because both equal 12 6.7+ 7= 14. Ir Rowena buys another

242+2+2+42+2 |5, c. 54545452 | (4+4+4and3+3+3+3) pack, she will have 21 (7 + 7 + 7).

6x2=12 6 x5 =30
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10+10+10=30 3+3+3+3=12
3x10=30 4x3=12




